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PART -1/ %m-1
CHILD DEVELOPMENT AND PEDAGOGY / ur famra 7 fymamare=

Directions : Answer the following guestions

(Q. Nos. I to 30) by Iﬁ'fﬁ;dng the correct/most
appropriate options,

Noor forgot to b her tiffin to
school and asked ’Il‘-:;ﬁnmxhauhﬂ'
tiffin saying “You should share vour
T ﬂ me wt;hdn}- because I shared
You yesterday™.
ﬁrﬂl:: to Lawrence Kohlberg's
ry of moral developmen :
statements  represents Sl
orientation typical at stage,
(1) law and order ; post-conventiona]
(2)  obedience ; pre-conventional
(3)  being nice ; conventional
(4)  exchange ; conventional

innurlﬂh deemed appropriate
different sexes in th

- e society are
(1) gender discrimination.

(2)  gender roles.

(3)  gender identity.

ﬁ-} gender stereotypes.

Recently there have been conscious
efforts to include stories in curriculum

B : et g (v, @@l #30) % 3

31 & fore @l o v e JAT -

1.

R forerer # 1o v wiEw @ 6 T
A7 48 FEA §C A1 A TS T H
w0 % forg g o O FE R
AT Fg AT =1k i we 7 gem
WY AT 7w e )

Ao srwi & e fiew s iR &
R [ T FfHf=T
TEgE  sEwgrEnia |
(2) HTIUTEA | TE -

(3) 3r==1EE; WEE

(4) HEH-FEH ; TR

T i farfm it & fer e W o
ot e faset & W § o=
T Y S v e 7
() =t e

(2) 3T ftewnd

(3) HEt TEEE

(4) e wfhErfemd

i e & forg fedeniier o
TR @ foret v e 3 it #f w4

e e e i ) e |

e feefem mewg 4 ¢

(1) %8 S e =t w9 w2 |
(2) 78 S sl = wam wd |
& et e = St w2 |

& wEmme S am,

& Bt & v v oo

.......



According to Jean Plaget’s theory of

cognitive development, hypothetico-
deductive reasoning develops during

(1)  sensori-motor stage.

(2)  pre-operational stage.

{3} concrete operational stage,
(4) formal operational stage.

According to it s
important to understand the social
processes and influence of the cultural
context on children’s thinking.

(1) Lawrence Kohlberg
{2)  Jean Piaget

(3) Lev Vygousky

(4)  Albert Bandura

Drawing implications from Piaget's

theory of cognitive development, a

teacher of grade 6-8 in his classroom

should

(1) distourage use of
arguments.

(Z) present problems that require
reasoning based solutions.

(3) use only concrete materials to
tzach a concept.

(#)  rely solely on prescribed syllabus,

logical

A:p-u*ﬂnnﬂﬂlrﬂ:ﬁ":ﬂl‘lﬂ'rul

(3

E
St i % sy R S fagm &
amafy § fsRm e ¢
(1) wEd-wes e
(2 o HiEares wEen
(3) 7 o sEEn
(4) I RS STa

& Fan, wei & fom & #

wmfes shwms] wo T Wl

TNTE W AT T B |

(1) T Sl

(2 o s

(3) o T

(4) 3 g0

s & dwyeeos frwm % R @

Ffamed Prerrert gu s 1w 6-8 % Fws

T T = o T = i ?

(1) wfw 988 % 99T T gaEnen
A1 TR |

(2) e wwEd v Sl ey P
T Wi ST &) e
anil A

(3) TS HEUWm % 79 F forw Fam
T Tt 1 S e

(4) e it wrgEes ke
=nfen |

!ﬂmtqﬂﬁmtm
‘et 3% O s iy @
 Redveard 0w § 7

(1) waf, e o ) & o % ey



10.

The process by which children develop
habits, skills, values and motives that

make them responsible, productive
members of society is called

(1)  socialization.
{2)  inclusion,

(3)  manstreaming,
(4) differentiation.

Which of the following statements
about the role of heredity and
environment in human development s
correct ?

(1) The only reason for individual
differences is heredity,
Environmental influences totally

shape the development of a
human,

Neither heredity nor environment
influence human development.

(2}

3y

(4)
influence human development in a

1. n-mﬂﬂ:m

Heredity and environment both

(4}

10,

11.

5, 12 mmwﬂwm 7
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13

14

A student in your class has been told
sgain and again from different sources
that people from his social group
typically perform poorly in academics.
To reduce the impact of this
stereotype and resultant stereotype
threat, a teacher’s initial step can be :

(1}  ignoring such concerns.

(2) organizing competition between
students from different social
groups.

(3} suggesting the student to leave
academics and join some other
domain,

(4) presenting stories and examples of
role models from different social
ETOUpS.

In an inclusive classroom, o teacher
should

{1} Dbelieve that every child has a
potential to learn as per their

abilities and strength.

(2) show an attitude of pity and
sympathy  towards  disabled
leamers.

(3) use labels such as ‘handicapped

child’, ‘retarded child 1o

(4) pay attention only to the gifted
and talented children.,

A student shows the Mﬁ_ﬂﬂ in

ﬁ-ﬂiurm

(5)

&2 .

E
) s & v fadl w5t Rl el
& wr-an 7z W T & T EE
e @t % s Aew ox F P
i vev =@ § | w sheften @

wftonfires wfyard s % warE w5

w0 ¥ fo v farws ) w0 TeE SO

=i 7

(1) 9 W& & FUHAT ] FeE Sl
=t |

(2) faftrs afes = & R &
e Wi STt e =R |

(3)  foremeff & vard Srget Rt e g A
e &4 3 o w2 =R |

(4) ferfira wrefires =il o e wiew |
weftn wEE T FaE
W HT1 SR, |

us womaeft wan § firew o= w0

=Ry 7

() @z foem s T & oS
= § wrfl Trama e ofE %
AR Hie i amm R | :

(2) o FfrTaEwiet % e T
et w1 W weRf wen
e |

(3) wea ® CImlEw w=, e 9
;ﬂﬁqﬁﬁﬁﬂiﬂ'ﬁﬁm

(4) A WM w6 97 9= W
- eE T |

o Farerel? v 3 frffam e sl

w d ;
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16.

17.

18.

A teacher can address needs of

specially abled learners in an inclusive

classroom by

(1) emphasizing upon practice and
drill and using paper-pencil tests
for assessment.

(2) following uniform ways of
instructing the students.

(3}  giving a lot of written homework
and stressing on copying of

answers  from other ‘bright
students’,
(4) developing  specific  learning

objectives based on an analysis of
each student’s leamning strengths
and weaknesses,

A teacher can encourage creative

learners in her classroom hy

(1) emphasizing convergent thinking,

(2) discouraging divergent thinking.

(3) encouraging multiple perspectives
and appreciating original ideas.

(4)  discouraging the students from taking
risks and undertaking challenges.

Which of the following factors supports

meaningful learning in the classroom 7

(1) Increasing number of tests to
motivate children to leamn

{2) Increasing rewards to motivate
children to leam

(3) Following only the lecture mode

~ of instruction

content matter and having concern
for nﬁllﬁ'm‘lnvﬂﬂl well-being

(6)

16.

1/,

18.

19,

P-II

fireps w w3 fadhe v
o sftel § s
1 e R @ g &/ wEft W

aFaTR ?

(1) e i o - <R
1 T AT T T A o |

(2) Taenfift = e @ & fog o &9
aﬁﬁwnﬁm%ﬂmq;ﬂ e

(3) HEE
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TE $ U1 2878 ETE! |
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21.

Which of the following is NOT an
effective strategy for teaching-learning 7
(1) Encouraging children to make
intuitive guesses

Experimentation and exploration
Dialogue and discussion

Focusing on reproduction of
knowledge as given

(2
{3
(4)

How can teachers deal with children
who are non-attentive in the classroom 7
(1} Ask the children to go out of the
class,

Scold them frequently in front of
the entire class.

Ta!_k to them and find out reasons
for their disinterest,

Give them a lot of worksheets as
homework.

(2)
(3)
(4)

Constructivist approach suggests that
' is crucial for constructing

knowledge,

(1)  prior knowledge of the learner
(2)
(3
(4)

punishment

(7

21.

E
Frfeften & @ &9 o Reor-sfrm &
fivre weh wereraeh faregor someft 7 @ 7

(1) w=t =t SfglE % g0 SFgEE @
 Tequ wimaTfea & |

T U qaa ] |

T e afei |

feu e 3 i grEed T EE B
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(1) ==+ w8 @ W WH & fom
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Bie |
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wreAETe S e R R
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(2) FFEE
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(3)
(4)

(2}
(3}

(4]
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24. The relationship between cognition
and emotions is

(1) independent of each other.
{2}  uni-directional — emotions influence

cognition,

(3} uni-directional — cognition influences
emotons.

(4)  bi-directional — a dynamic interplay
between both.

25. Which of the following factors affect
learning ? :
(i)  Interest of the student
(i) Emotional health of the student
(i) Pedagogical strategies

(l¥) Social and cultural context of
the student

(1 (), Gi)

@ (i, Gii)

@) (i), G, i)
@ (), G), i), v)

26. _______ are an important aspect of
(1)  Social interactions

(2)  Drill and repetitive recall

(3 'Wmﬂd_imﬂﬂﬂmm

(@) Stimilus-response associations

e

27.

P § & W 3 U IRH F

i = # 7

() feramedf it st

iy Feremeff w1 wrafies @A

(i) Treremsia il

(v) Taenfi =1 amfe o Wit
e

(1 (i), (1)

{2y (1i), (iii)

(3) (@), (i), (i)

(4y (1), {uid, Gidd), (av)

Fefafan 5 & = v F anfs w5

ot it =1 o wewg vee @ 7

(1) Tl g

(2) TP HETE 9] 4N-80 S
A

(3) TEHATEGE

(4) FE -wiia ey

e femmreff I T § A-AN
o TR o 1 P 0 € (B
R e i o6 vl el W ) <t
o6 weawg w0 @ Imfafafy @ sftm i
(3 % & "R W &y s,
et fRufts # o wwren e A R

(o mﬁﬁuﬁ dfmad sfirf
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28.  The concept of childhood is

()

(2}

{3)

(4]

universally the same
different cultural contexts.

BETOSE

a social construction according 1o

contemporary  socio-constructivist
theorists.

that children are bormn evil and
have to be civilized.

that children begin with nothing &t
all and their characteristics are
shaped entirely by environment,

29, Which of the following characterize
the period of ‘middle childhood’ ?

(1)

(2}

(3)

Physical growth and development
pecur at @ very rapid pace.

Ability to think abstractly and use
of scientific reasoning develops.

(9

29,

AT $ o | wa a7

(1

(2)

(3}

(4)

e fafirm g el # FEH{H
w87 d |
THEEAR A=)

AT & SgEn A UE
AT AR |

7% & f o=t gz w9 ¥ fe ¥R € 3
774 B T AR

7% fi5 a0 & weemE F 8
st 7% T qft wE A ofE
g Fauffi foe am |

Farefafes 4 @ &9 o ‘v wreEen’
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(b

(2}

{3
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HEme |

st w9 & i mn A
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P-11

Social Science).

IMPORTANT : Candidates have to do questions
31 to 90 EITHER from Part - Il (Mathematics
and Science) OR from Part - HI (Social Studies /

RVl . qAisiiEt @ myw3l & 90 @t w1
(T & fawr & wer - L (ST e [/
TR ) ® wA

J

PART - I1/ WP . 11
MATHEMATICS AND SCIENCE / Tfore & fasm=

Directions : Answer the following questions by
selecting the correct/most appropriate options.

3l. How many pairs of twin primes are

there between the integers 1 to 100 7
(1) 35 2) 6
3 7 4y 8

If 21168 = 2° x 3® % 7%, where a, b and
¢ are natural numbers, then what is
the value of (4a —5b +¢) ?

(n o

(2) 1

3 2

4 3

Let x be the least number which when
divided by 8, 12, 20, 28, 35 leaves a
remainder 5 in each case. What is the
sum of digits of x ?

(B 1 :

L

33

:

[Ty

fRdw » Feffen g & 30 &9 # o
FEY awg Iy fawey g9

31, el 1 & 100 7 A TS T <6
el 7

(1) 3§ 2y 6

3) 7 4y 8

qfE 21168 = 2° x 3° x 7° 2, &l a, b 720
¢ WTHa EATd €, 11 (da — 5b + ) FTAH
e

(h 0 2y 1

(3 2 (4) 3

7T T « O T8 weE B vun B, Tl
8, 12, 20, 28, 35 ¥ Wi 2% 7t Weirw T &
ST |« wiwr AT
.

(2) 14

3 15

4 17

HEA! 50, 61, 92, IT AR WS A S
o o T v I TR W R
14

3z




P-1l
35.

3.

A sum of ¥ 1,710 Is divided In A, B
and C such that 4 times of A, 6 times

of B and 9 times of C are equal. What
is the difference between A and C 7

(1} 7360
(21 450
(3) 7480
4) T540

The number of fruits in baskets A and
B are in the ratio 7 : 9. If six fruits are
taken out from A and put in B, then
this ratio becomes 1: 3.

The total number of fruits in A and B
is

(1) 28
2 32
(3y 36
(4) 40

AABC and AADB are on the common
base AB and on the same side of AB.

DALAB, CBLAB and AC = BD.
Which of the following is true ?

(1) AABC=AABD
-[_.'!] AABC = AADB
(3) AABC =ABAD
{4) AABC=ABDA

(11)

m—————

As.

2.

E

1R oM A BT CA W

wER WA a9 & R A w1 WW O,
BHE 6N AN CH 9T W § | A
smcHTm AR ?

(1) %360

{2) T450

(3} T 480

4 T340

Zrefet A ofi B & @ Wl e A
7:9mFgaa t | WA A AR W
e freTe A B # g Ry, @
7§ g 1 3W k|
A pigafem wa 7

(1) 28
21 32
{3) 36
(4) 40

AABC 3 AADB %1 3908 HTHR AR
% sl 2 Ay, AB % Us i fRm f |
DALAB 3 CBLAB#MAC=BD ¥ |
fedddnmeate
(1) AABC=AABD
(2) AABC=AADB
(3) AABC=ABAD
{4) AABC=ABDA
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38. The sides of four triangles are glven

3.

below ;

() 20em, 22 em, 24 em

()  15cm, 32 em, 37 cm

(1) 11 cm, 60 em, 61 cm

(iv) 19 cm, 40 ¢m, 41 em

Which of them forms & right triangle 7
(i

(2) (i)

(3) (i)

(4 (iv)

The angles of a quadrilateral are in
ﬂ:li:rlﬂn.!:s:'?:ﬂ.'ﬂr’hnthﬂle
difference between the least and the
greatest angles of the quadrilateral 7
1y s50°

(2) 6&0°

3 720

(4) 90°

The perimeter of a triangle is 12 cm. If
all the three sides have lengths (in

cm), in integers, then how many such
different triangles are possible ?

m
(2)
(3)

)

(12)

38,

39,

P-1
g g A A E:
()  20cm, 22 cm, 24 cm
(i) 15 em, 32 cm, 37 cm
(iii) 11 em, 60 em, 61 cm
(iv) 19 cm, 40 cm, 41 cm
i & e g o B e & 7
(1 (@
(2) (i)
(3) (i)
(4)  (iv)

et sm3:5:7: 9% FgIW
#§ | wgdy % w2 e T W
v AR 2

(1) 50°

) 60°

(3) 720

@ o0

e w12 em } | R
et st 6t vt (om H) gkt 3
g TR % R e fawwwa §

(1)
(2)
(3
(4)

L (Y Sl #5 B S ]

SPACE FOR ROUGH WORK /7% %1 % for e
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4l

A godown is in the shape of a cuboid
whose length, breadth and height are
56 m, 42 m and 10 m respectively.
How many (maximum) cuboidal boxes

each measuring 2.8 m x 2.5 m % 70 cm
can be stored into the godown ?

(1) 2400
(2) 3600
(3) 4800
{4) 5400

The circumference of the base of a

right circular cylinder is £28 cm and
its height is 2 m. What is the volume

™

of the cylinder 7 {Take K= L:!'—:;

(1) 22176 m*
(2} 3.3264 m’
(3) 44352 m’
(4) 6.6528 m’

The area of a quadrilateral is 227.2 em?
and the length of the perpendiculars
from the opposite vertices to =&
diagonal are 7.2 cm and 8.8 em. What
Is the length of the diagonal ?

{1) 268cm
{2) 284em
(3) 30.2cm
(4} 32.6ecm

(13)

— o

41.

42,

E
UH UAHTER Tem @ e, e
3 F=m Foe: 56 m, 42 m I W m
& w5 s (Fftewmm) feee SRR
fist 7@ vt €, o v fas 6
famd 28 mw 25 mx 70 em ¥ ?

(1) 2400
(Z) 3600
{3) 4B0OO
(4) 5400

fireft v geftg @59 F amim $ vy
sEemt i dNEamd TR

mm![nnﬁ,—zﬁﬂm l]

(1) 22176m’
(2) 3.3264 m*
(3) 4.435m°
(4) 6.6528 m’

Tt =i w7 fer 2272 om? # 3R
¥ U fawl W 3EE AaE vl A B
T, EEET T R 7.2 em 791 8.8 cm
# 1w i R vl 7

(1} 26B8cm

(2) 284cm

3) W2cm

(4} 326cm

SPACE FOR ROUGH WORK /% T4 % forq me
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(14) $

If!{h+4]-ﬂ&+?}.h_g.m“ I 44, TR 5(3x +4) - Bihx +7) =9 =BT,
what is the value of (x* - 2x 4 1) ? | (rd -2 4 1y EAA AR ?

2
By = 2

i (1) 3
2 3 2 3

3 5
) = L
(3) 3 {3; 2

23 25
(4] g (4) )
What is the value of 45, WMa=1Lb=-37mc=-2%
8@ + b* + ¢) + b¥a? + b* + &) - afa + b + ¢) + b(a? + b + ) = cln + b
eln +bY) whena=1b=-3and c=-27 Lok bk &
1y 138 (1) 138
(2) 154 (2) 154
(3) 162 (3) 162
(4 176 4y 176
The expression 46, STw
(=) (2 +xy + 7 + (x4 ¥) (P mxy + 9 =W +xy+ ¥+ x4+ 9 (P -y + %)
-(x+y) (x* -y —(x+y) (&P -y
is equal to Lit 8
(1) -y +ayx+y) () -y +xyixsy)
2) ¥ -2 +xiy+x 2) ¥Y-L+ayiv+x
(3) f+jr3 + 1y = x) (3) .t3+jr3+.r}'{]r'-x]
@ P4y +ayix-y) (@) 2+y +ayix—y)
What is the mean of the median, mode 4. T g & forg wmes, e i
and range for the data given below ? iR % e i
11, 25, 0, 8, 25, 30, 44, 50, 30, 18, 20, 11, 25, 0, 8, 25, 30, 44, 50, 30, 18, 20
17, 11,9, 24,25, 29 17,11, 9, 24, 25, 29 S .
(n 3 m 31
2y 32 (@ 32
3) 33 (3) 33

.ﬁ} 34 (4) 34
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48. A mathematical theorem is

(1) a statement that has been proven
by logical arguments based op
axioms,

(2) & smaement which is always true
and doesn't need proof,

(3) & statement whose truth or falsity
15 not known.

(4) a statement without sufficient
Evil:leucn for proof,

“Things which are equal to the same
thing are equal to one another.” This
axiom which is basis to arithmetic and
algebra is given by

(1)  Euclid

(2)  Pythagoras
(37  Descartes
(4)  Euler

Whielmﬂhnhlhwingmh:mdu

(15)

%

E

. ek et Wi R
(1) v A T arfiprdiat ot whema
Ffert g firg frmmn 2
2) YA = T de @ ik
T8 It s ATETEE T R |
(3 U= weA e ge O e
w1 F1 ATHA TH F |
(4) U HYF & Th aafy 9 e
HifEaE |
. el St Fop T T % o E, @
7w gEt & WO g 1 e ety o

i 7 wfianfie % smaR g, Rad
(1) YfF8 (Buclid) 7

(2) WTEYTIE (Pythagoras)

(3) ¥ (Descartes) 3

(4) AT@ER (Euler) 3

- It § e T ) Siefia w0 %
for Frrferfien & & R6& amwer dmm




51. Which method can be used to prove

“The sum of two even integers is
always even" 7

(17 Proof by induction

(2)  Direct proof

{3)  Proof by contradiction
(4)  Counter positive proof

Which of the following skills are
promoted by mathematics at upper
primary stage ?

A.  Visualisation

B. Transposition

C. Memorisation

D. Gﬂllrilimtllm

E. Estimation

(1) A.B,DE

2) AB.CD

(3 B,C.DE

4y ACDE

Which of the following tasks is least

likely to develop critical thinking

among students ?

(1) Ewvaluate 72 % 73 in three different
ways and compare the result.

ﬁ?‘ Formulate any two situations to

Mﬁw ?:+3h-i¢.

(16)

|

=18

52.
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(2) wEHH IO
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A, HEEGEA

B. THIEO

C. oy HT

D. EWETES

E. M S
(1) AB,DE
(Z) A, BCD
(3) B.C.D,E
(4) A.C.DE
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W0 I TR S e i |
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et g o e = aEee e |
3) o o 7 wF 9 T T,
fomdl fimm 3.5 cm 3 aﬁni
10 cm %, ¥ MW /S om’?
| “'ﬁh;ﬁgﬁiﬁm:ﬁ?
(4) TH T H WA T
=ifau fredi Brem 35 om 3k
Mlﬂm’ﬁl

wmfwmﬁthm



p-ll
5.

Which of the following aligns with
the overall objective of achieving
‘Mathematics for Al as per NCF-

2005 7

(13 It should be acknowledged that
mathematics is meant for selected
few students,

(2) Textbooks should only include
problems of average difficulty,

(3) Contributions of mathematicians
from different regions and
different social groups should be
highlighted.

(45 Mathematically talented students
should be groomed in isolation.

Which of the following is considered
as & characteristic of an effective
mathematics classroom ?

(1) Group work and group problem-

(17)

E
e rgmedl B e (T.EEE.)
2005 H s % dgEwR wh F frg
T e W W W el
frefafer d 2 PR @ 2 2
(1) @z oA fern s wfve fE i
fem
T AT o B Sney |
3y fafim g o ffmw T
ot e et & dTEE
faferfeanaii T 7w & FifeT |
(4) ﬂhﬁﬁﬁgﬂﬁwﬁﬁﬂm
#f fngm 2 =fee |

frfrr S %= B W W & feg
oot 8w e 22

) wgE F v i g
TS et S S |

(2) v e o ey e s
A e o o e 2 |

@) B e g Rl
ﬂhﬁﬁiﬁﬁmﬂ1
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Which of the following is a desirable

practice in the context of teaching and

learning of measurement of volume ?

(1) Begin by writing the formula of
volume of a cube,

{2) Encourage precise calculation
right from the beginning,

(3)  Begin by introducing students to
the volume of 2-D figures,

(4)  Encourage students to figure out

ways lo caleulate the volume of
different objects,

Which of the following is NOT true

according to Plagei’s view of

children’s understanding of space ?

(1} Progression of geometric ideas
follows 2 definite order.

(2) Progression of Geometric ideas
Mollows a historical rather than a
logical order,

(3) Early understanding of space is
formed by child's sensory metor
experiences.

(4) Co-ordination of different visual
and tactile experiences is required

(18)

|
|

56.

P-II
e & A 6 fager i it ded

Preferiae & & e ot s S R 2

(1) syt 3w T % ST ® T
v |

@ wiw @ @ wE e W
AreaTTEn A |
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4y il w fafm spRl &
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58, l:ﬁ-lhif—al+Izu+r-41-{-z4}+ai- 58, U 12k (=3) + (20 + (- 4) = (-24) + B]
(16 + (<2)] = (<28 +7) + x, ~[16+ (-2 =(-28+T) +x R, WMz H
then the value of x is ik |
( 29 1y 29
(2) 39 2y 1
(1 46

(3) 46
(4) 47 |
! (4) 47

59. U an B-digit number 30x0867y is i e 300867y, 88 B
divisible by 88, then what is the value i ;E;iﬁﬂm T ;Iq
of (Ax + y) 2 M +y) FAATTR?
(1 4 (1) 4
(2) 5 2y 3
(3) 6 % (3 6
@ 7 ; (4) 7

60. The value of

SO OO It L Lol 7 7 i
Borbudoshede 2 el s Dt
grégRag-n XY Tia\gty ”3 Lok iok
is ]
| 1 =135
(1 -ll33 :
: @) 133
@ 53
]
(3)
o o &
1
1 4 =
(4) -65 & =1

SPACE FOR ROUGH WORK / 7% T4 % ferg e



Directions : Answer the following questions by

selecting the correct/most appropriate aptions.

61.

‘X" Is a chemical present in our
stomach and is necessary for digestion
of food. When ‘X’ is secreted in
excess, it causes health problems like
indigestion. ‘Y is a chemical used to
treat this condition. What could be
‘X'and ‘Y'?

(1) X is hydrochloric acid & Y is
sodium carbonate.

X is milk of magnesia & Y is
hydrochloric acid.

X 15 hydrochloric acid & Y is
milk of magnesia.

X is milk of magnesia & Y is
ascorbic acid.

(2)

(3)

(4}

In which of the following processes,
Bacteria is NOT used ?

(13 Formation of curd

Baking of bread
Fermentation of Sugarcane juice

(20)

P-11

Adw . Feffan wa & I @ &
e/t avg e GT

61.

X' 9g wWEA ¥ @ wER A |
e & wen v & weA & R
ST & | X i i wifE g
t’ﬁqwﬁmmm
@ & | Y 98 WA & fraw svEm
teft ) wRfRef & sw=m % ferg féear smm
b x sty ek e

(1) X Tt 370 7 Y #ifeam

(2)

(3)

(3) WHEWF AT
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() SAEH

(2) WEEUETE

(3) A

(4) W
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65. Which of the following represents an

nscending order as per the size of
particles 7

(1) Rock, Clay, Sand, Gravel, Siit
(2) Clay, Silt, Sand, Gravel, Rock
{3y  Silt, Clay, Sand, Gravel, Rock
(4) Rock, Gravel, Sand, Silt, Clay

66.  The function of gills in the fish is to
(1) take in oxygen from air
(2)  absorb nutrients present in water

(3) absorb dissolved oxygen from water

(4) excrete waste into water

67. Which of the following can be used to
complete an electric circuit if one runs
out of connecting wire 7
(1) A paper strip
(2) A rubber belt
(3) A wooden stick
(4) A blade

68. Manjula is observing her image in a
plane mirror. The distance beiween
herself and the mirror s § m. She
moves 1 m townrds the mirror. The
image now is
() 1m
2 4m
(3} Em
4} 10m

e

E
65. il & WG (HHR) AR BN @
F W FreRm w7
(1) =Ew, yfw, 1 (), wed, e
(2) wfewr, T, I (W), WA, WEH
(3) gl @ (), Wl 5EE
(4) ¥EM, T, @ (Fe), TR, g

66. wweh (are) dwwm () med dm -

(1) a7 R Tl mE e |

(2) Wt § ufekm ol S srEEiee
T |

(3 =@ § ufem faew (geEte)
AT ST A |

(4) e srafinet =t IeafAn W= |

m 67. afe wares A TR, W frge wiw W

qa % & fom Frafafes # & fewer
e frm w7

(1) =TT 6 Wi

(2) TEEH R (afgw)

(3) TEE H B

4 =i

68. TEEN AN o9v H 379 ol =

WEE IR Al sme | wmadn
1 3 1 mEet & | o Iedt siadn
= 3 Wi S e A gl -

(1) 1m

@ 4m
@ Bm

(4 10m

gl
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71.

Identify the incorrect statement.

(1)

(2)

(3)

(4}

Ball bearings are used to increase
friction between parts of a machine.
Friction between two surfaces in
contact can never be eliminated
on earth,

Rolling friction is less than sliding
friction,

The friction force cn an object
moving through a fluid depends
upon its shape.

Which of the following statements
isfare correct 7

A,

Iron can replace zinc from zine
sulphate solution.

Zinc can replace copper from
copper sulphate solution.
Copper can replace Iron from
Iron sulphate solution.

Only A

ony
AandB

(22)

B

e U TEIG, ¢
= E}— mhﬁnﬁwﬁﬂmﬁi#mﬁ

3 g & o # 9fe T % fom
fpm o & |

(2) @ﬂmﬁﬁ@ﬂ@%m
i it off wER T o

HHEAE |
(4) ﬁﬁﬁaﬁﬁﬂﬁfﬂﬂﬁﬁ?ﬂﬁﬂim
oy e e AT TR

fi

1. BeRfemidena/ vt/
A e Rim wene e d Rw W

Rrentm e Esm g |

B, fis S wehe faeww ® S s
fremfm s asa g |

C. R FE Fehe e | amw
Ft Rreafrm s asa 2 |

(1) FEAA

(2) +=AB

(3) A3RB

4y BaRC

72, Frefefem # & wft v e

(1) el i w1 3w Jaed gl
A A % o R e R |

@ W a WA F b #
‘mfiuvf:-m'cﬂmtu

73 w1 i 35 °C
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73.  ldentify the incorrect statements,

74.

(1)

(2)

(3

(4)

The calorific value of Kerosene is
more than that of Coal.

The calonific value of coal is more
than that of Wood,

The calorific value of Biogas is
more than that of LPG.

The ecalorific valoe of CNG is
mare than that of Diesel

A bus travels at a speed of 50 km/h for

12 minutes & then at a speed of

40 km'h for the next 18 minutes. Total
distance covered by the bus during
this time is -

(1)
(2)

20 km
22km

(23)

(1)

(2)

(3)

(4)

73, e Y TG :

Fife =1 Serime (Fefm 5H)
St & Sifiom (wui @A) A
it 2 |

Frdt #1 Fewe (s W)
FHE & et (T ) §
wiw g |

wTte w1 deie (S 5E)
LPG % *erimm (F=fl 7m) 4
R |

CNG %1 Fermm (FefE 9H)
S % Ferime (Fefw 7E) A

Az |
74, H wH W gE0 w wEd 12 fiEe
E' 50 km/h = =T # S I 18 e
40 km/h $ =Ter & ol # | 56 T A
Fafy & wn oo Rl gt T Wt R 7
(1) 20km
{2) 22%m
3) 24km
(4) 28km
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T6. Which of the following statements

is/are

correct  regarding image

formation in plane minor ?

Image is erect,

Ilmage is real.

Image is laterally inverted.

The image size is sare that of object,
ABC

ACD

B.C.D

AB.D

77.  Which of the following is a NOT true

w.r..

(1}

@)

the nature of Science ?

Science is an interdisciplinary
aren of ham-'m;,

Science is always tentative.
Science is equivalent to a set of

£

7.

B 6. e it R o 3

P-ll

30 Ry A A e w7

A.
B.
C.
D.

(1)
(2)
(3
(4)

ffarar g o 8 |

i STEafa® BT E |

i T afeafifa G € |
fafie w1 an T F A &
T E |

A B C
A, CD
B, C,D
A B, D

e # & = om0 vl &
Hi AR TE 7

(1}
(2)
(3
4)

Ty et = i A
Teram g eurdi 2

forr mare =t wgn E 2
ferm et % e & wogea & |

TR et 2005 % ye]
Ao A B S

1)
2)

= o g
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1.

Anu teok her class VIIT children to
field trip. Which of the following

could be the most approprinte
objective/s for this activity ?

A. It encourages interaction among
children.

B. 1t promotes process skills
through conerete experiences.

C. It enhances observation skills
among the children,

. It breaks the monotony of class
as well as of teacher,

ABandC
B and C anly
A, Cand D
A and C cnly

(1)
(2
(3)
(4)

Which of the following should NOT be
an objective of science education at
the upper primary level ?

(1)  Nurturing the natural curiosity of
children.
Inculcating  the

(2 values  of

co-operation and concer for life.

(25)

81.

1 W VI & w0 At v %
for St wmt & | w0 Tirarmems & fem
Praferfigs § & w0 wad wfes 96

Jegy B T & 7

A. ﬂﬂﬁ#'ﬂﬂﬂi’ﬂpﬂﬂi’lﬂﬁm
Eocin i

B. W% W sgwdl % ga v
e S e |

C. T§ weEl % Eeied e W

W |
D. %% fwm ot B i wH 7w

figar € |

() ABINC
(27 FEABIRC
(3) A,CHRD
(4) haet A #RC

freefiafiga § & v 3= wrafis w0 W

faver v < s ol B =i 7

(1) ﬁﬁn@mﬁmmﬁn
A |

(2) WA % wfa gwE IR gEfE %
e = T = o

(3) i T w1 fEwm w5

(4) IEERET O R-TEEE
o e |
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8. A teacher begins the class by
demonstrating the chemical test of

starch in a given sample of food, The
cognitive process associated with the
underlined word in the above
statement is

(1}  Creating

{2)  Analysing

(3) Applying

() Uﬂdﬂﬂhudin,g

Which of the following activities will
NOT provide for active learning
among children ?

(1}  Establishing science club

(2)  Organisation of field trip

(3) Developing a science corner

(4)  Listening to & lecture in class

Which of the following is used for

finding the learning gaps of learners
In Science 7 '

(26)

mmmﬂmmﬁiﬂﬂ;ﬂ
ﬁ;q@ﬁﬁtmmﬁﬂimmw
s T R | T T 1 e e g
ety HmTe e # |

(1) FE = |

(2) Tererem T |

(3) AW AT |

(4) WG H |

feforfs # & ®19 o nfafafy o= &
witwa siftms 1 wrawE T8 F00 7

(1) Toee s o T
(2) & WA T I
(3) ToEm T
(4)  ETT H TTEA AT

R & Pt @ foreh qro s
o w5l =1 e e ST R 7

A, FEORE ATE
B. =i sttt

C.
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Which of the following statements are
correct 7

A. Pashmina shawl is made from

hair of goats,

B. Angora is a type of wool
obtained from Rabbits.

C. Camel wool is used to make
carpets.

D. Pashmina wool is obtained from
rabbits.

(1) A&C

() A&RB

3y B&C

4y C&D

Identity the animal on the basis of
features listed below :

A. Long back bone

B. Many muscles

C. Body curves into many loops for
moving forward

(1) Snake

(2) Earthworm

(4) Hook worm

(27)
I

87.

fRftymE s a7

B. 30 T SR 6 S & 5w
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(28)

B

IMPORTANT : Candidates have to do
Question Nos. 31 to 90 EITHER from Part -
IT (Mathematics and Science) OR from
Part - 11T (Social Studies / Social Science).

m,.wﬁm#mmﬂ #90 a7
mnﬂgwwfmﬁrﬂmﬁﬁﬁ

PART - IT1 / 9T - 11
SOCIAL STUDIES / SOCIAL SCIENCE (RTHIo: & / wfae faw)

Directions : Answer the following questions by
selecting the correct/most appropriate options.

31. Which of the following are block
mountains ?
{1} Himalayas (2)  Appalachians
(3) Ural (4)  Vosges
31. Statement (A) : Only one side of the
moon is visible to us on Earth,
Statement (B) : The moon moves
around the Earth in about 27
days and takes exactly the same
time to complete 1 spin.
Select the correct option from the
given alternatives,
(1) Both {A) and (B} are true and (B)
is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B) is EEE

not the correct explanation of (A).
(3)  (A)is true, but (B) is false.
(43  (A)is fulse, but (B) is true.

33, Consider the statements A, B, C on
metamorphic rocks and choose the

correct answer :
A. When lgneous and sedimentary
W?"" : e

| g Prefefan vl & IWOW ¥ fm
) e 39w e T |

31, Fyeifee i & # v T 7
1y fEmmeEa (2) AT Ty

32, T (A) : T A e
v fead e £ |

WU (B) ¢ ST G HT TH T T

27 ft F g e & ol e R

Ty WY WO WW TR W oft g

w8

mWﬁEﬁﬁiHﬂﬁmﬂm

(1) (A) 3 (B) o1 &t & 3R (B) vl
ST & (A) i |

@ (A i (B) S 7 E g (B)
ae =TEn T R (A) # |

(3) (A)®E R, T (B)TEAR |

(4)  (A)TEE R, W (B) AR |

33, wEminfmswidfegma, BaRC
oA W fomm Fife o ot REm W
= i

A :nﬁﬁﬂrmrﬁﬂﬂﬁmdh
TW & wE # sk A9 d

B. wnmin dm s= o o gm &
e vt gt e 8 |

C. UTR S Semtmfed |

) BwWCHAE sl ammt)

) ATEB®AEsCEmt

@) ABsmcdEiahE
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3.

4)

Transhumance is related to

(1) Movement of people

(2)  Closely built area of houses

(3) Artificial enclosures for keeping
small house plants,

(4)  Flaces where settlements develops

Consider the statements A and B on
permanent winds and choose the
correct option :

A. These winds blow constantly

throughout the year in a
particular direction,

B. Westerlies and Easterlies are
examples of these winds.

(1} Alstrue, B is folse,

(2} Az falge, B is true.
(3) Both A and B are true.
(4} Both A and B are false.

Campos in Brazil and Llanos in
Venezuela are examples of

{1) Temperate grassiands

(2) Tundra type of vegetation

(3) Tropical grasslands

(4) Mediterranean vegetation

Consider the Statements A and B

about ‘climate’ and choose the correct

answer.

A.  Climate refors to the day to day
:hlnguinlhtlhum

B. Climate of a place is affected
only by its altitude and relief.

(1) Aﬁmﬂ.!ﬂm

(2) 2

(3)

(29)

3.
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40, India's research station ‘Maitri’ is
located in
(1) Australia
{2) Antarcrca
(3} Europe
(4)  Asia
41. Which of the following Is not true for
minerals ?
(1) They are namrally occuring substances.
{2) They have o definite chemical
composition.
{3} They are formed in different types
of geological environments.
{4}  All minerals are non-metallic.
41. Match the following :
8. Narmada Valley i Early republic
b. Vajji ii. Hunting and
gathering
¢. Garo Hills ifi. Cities ahout
d. Ganga Valley Iv.
€. Induos and its V.
tributaries
a h, = d
(1 i i v
Ay ; IR - R | SR
(3 i EHouas WMy N
o oy iv e d

(M)

41.

42

P-1
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44, Below are the two statements in the
context of new popular Indian art in
the nineteenth century.
mocked at the changes they saw
around, ridiculing the new tastes
of those who spoke In English and
warned “th'- women moving
out of thelr homes.
Statement (B) : Images were used to
express nationalist ideas and
inspire people against British rule,
(1) Both (A) and (B) are correct and
(B) is the carrect interpretation of
{A).

(2) Both (A) and (B) are correct, but
(B) is not the correct interpretation
of (A).

(3) (A) is comrect, bat {B} is

wrong.

(4) (A)is wrong, but (B) is right.

45. Which of the following may be
:Mmtwmm
Mﬂh’mnmn

(31)

E

1 2 e et waned i 7§ A
Wi e S aEd A R |

T (A) : o it & Ao I &
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it 3 7o vt 1 T T S
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T e (B) 2
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urm #§ mfes weEl W anw % fg
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47. Below are two statements (A) and (B) in
the context of emergence of nation
states in Europe in 18-19" centuries.
Statement (A) : Till the eighteenth

century, peaple in Eorope saw
themselves as nution states.
Statement (B) : A conscibusness was
created in the early nineteenth century
among the people that each linguistic
community was a separate nation.

{13 Both (A) ond (B} are correct and (B)

is the comect interpretation of (A),

{2) Both{A) and (B) are correct but (B) is

not the correct interpretation of (A),
{3)  (A)is comect, but (B) is wrong.
(4} (A)is wrong, but (B) is correct.

BCE stands for

(1) Before Christian Era’

{2} Before Common Era

(3) Before Cassar Era

(4) Before Contemporary Ern

49. How do we know today that ostriches
were found in India during the
Palaeolithic period 7

(1) We have vivid description of these

birds in the writings of that time,
# E&T

3 ‘ﬁmﬁ?mm

found at Petne in

'''''''''''''

qnlﬂli;hﬂﬂfmﬂlﬁﬂ

i ;jnﬁiﬂwm

(32)
47.

48.
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. Under the Mahayana Buddhism

(1}

(2)
(3)

4

Buddha's presence was shown in
sculpture by using cerlain signs.
Starues of Buddha were made,
Bodhisattvas were not accepted as
they were yer 1o
enlightenment.

Mathura and Taxila declined as
centres of sculpture.

gitnin

53, What is true in the context of
administration and consolidation
under the Khaljis and Tughlags ?

(1

2

(3)

(4

Large parts of the subcontinent
remained under the control of the
Delhi Sultans.

The forested areas in the gangetic

P]ﬁuwmp:nmtﬁdfurmm:
time.

It was difficult to control distant
provinces like Bengal from Delhi.
Alauddin ﬂﬂﬁ anil Mubapriread

m mjﬂ#lw

......

(33)

51, wERE A e ¥ 3

(1)

(2)
(3)

(4
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34. How did the British consolidate their
control over India after the Revolt of
1857 7

(1)

By transfer of powers of the East
India company 10 the British
crown for a more responsible
managemen! of Indian affairs,

(2) By recruiting more soldiers from
Awadh, Bihar, Central India and
South India.

(3) By making policies to protect the
landless and peasants.

(4) By appeasement and safeguarding
property rights,

55,  Which of the following NOT a feature
of Representative Democracy ?

(1} Represemtatives chosen through
elections.

(2) Decision meking in the hands of
the representatives.

(3) Dicect participation of people in

(4) F['ﬁ'mﬂﬂughts to people.

(34
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which of the following is NOT a

() It lies to the South of Morthern
plains.

(2 Arzvali Hills border it on the
North-West side.

(3 It is rich in minerals like eoal and
Iron-0re.,

(4) Rivers Mahanadi and Krishna are

some of the west flowing rivers in
the plateau.

Which of the following statements

ahout Africa is correct ?

{1} A large part of Africa lies in the
Southern Hemisphere.

(2) It is the only contment through
which the Tropic of Cancer,
Equator and Tropic of Capricorn

(35)
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What is known as the Costs Rican

Bpproach in the area of public health ?

(1) equal spending on health and
defence,

defence budget 1o be more than
health budget,

not having an army to maintain to
be able to spend more on public

(2)

(3}

health.
(4] spending on the health of the
Armymen.

61. In 1997, the Supreme Court in India
formulated the Vishakha guidelines to
protect  women .trum sexual
(1} in vehicles
(2)  at work places
(3)  in marital relationship

(4) on streets

Who amongst the following appoints

the governor of a state in India 7

(1) Members of the Legislative
Assembly

(2) Members of the Parliament

(3) Central Government

4]  Aftorney General

‘Who among the following is 8

(1) Patwar

) e

(36)

61.
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66, The Forest Rights Act, 2006 in Its tiile

&7

recognizes the

rights of which

category 7

{1
(2)
(3
(4)

Scheduled Tribes

Scheduled Castes

Economically Backward Classes
Moest Backward Classes

An example of secondary source is

()
(2)
(3

(4

The Constitution of India

Census Repor, 2011

Record of Registration of Births
and Deaths.

Our Pasts (1) — NCERT textbook

in history for class 6
Consider the two statements below :
A. Examinations are artificial
situations created for the
convenience of the system and
not for the individual learner.
B. A shift in emphasis on testing
memory would reduce stress In
w Only statement A is true.
@)

(a7

E

o SRR HE-2006 9 WE 7
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(1
(2}
(3}
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e FAAToa
Faram
arithes W & fawg =l
afa fawd sfet

foefrares g W O e @
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71

The primary purpose of assessment in
gocial science is

(11 To recall texthook knowledge and
reduce exam stress for all leamers.
Categorising and labelling
learners,

Toe highkight social differences
amongst the learmers,

To give leamners feedback and

setting standards for them to swive
towards,

(23
(3

(4)

Films can be used s an effective
pedagogic tool in the social sclence
classrooms because

A.  flms can bring the world into
the classroom.

B.  films inspire us with the power
of discovering the unseen and
the unheard contexts.

C. films bring stories, voices and
images that in life may be far
removed from us.

D. films are objective medium
which can encourage learners to
frame their views In a singular
manner.

Choose the correct option.

() ABC

(2) AB.D

3) ACD

4 B,CD

(38)

:
I

P-1
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In an effort to connect learning with
jearner’s life, the social science
teacher needs to

A. intentionally and explivitly includes
diverse cultural perspectives in the
subject content.

B, point out the personal and family
backgrounds of the learners in the
class.

C, give learners opportunity to share
their examples and experiences in
the class.

Choose the correct option,

(1} AandB are comrect.

(2) Aoand C are correct,

{3) Band C are comect.

(4) Only B is cormect.

While teaching history, ‘genealogy

chart’ is used to

A. BRepresent the growth and
development of an empire or a
dynasty.

B. Show sequence and functional

relationships.
chronological

C. Provide a
framework.

D. Develop a sense of space in learners.
Choose the correct option.

(1) A, B and C are comect.

(2) A, Cand D are coreet,

(3) B, Cand D are comect.

o myﬂmd‘l}ii&"" "
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Conslder the statements on project
method in social science teaching :
A. It is Inspired by pragmatic

perspretive.

B. M turns learners into @
discoverer.

C. It Is entively a teacher-centered
method.

D. It allows lesrning through self-
diricted activity.

Chaoose the eorrect option :

(1 A and B are correct.

(2) A, Bond C are corect,

(3 A, Band D are correct,

(4) A, Cand D are correct,

A social science teacher willing to

enquire with a  consiructivist

perspective would view the learners as

A. Curious to explore on social
processes.

B. Imaginative on the basis of
SOUTCES,

C, Trying 1o suggest solutions to
problems.

D. Postponing  discussions  on
controversial issues for higher
education level.

Choose the correet option,

(1) AundB only

(2) A, Band Conly

(3) A,BandDonly

(4) B, Cand Donly

social  science

N .

(40)
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why should studenis learn to be

eritical 7

(1 To pomt out flaws and being

cynical about everything,

To maintain the stams quo in

society.

(3) To understand how issues are
related to their own lives.

To appreciate uniform,
homogeneous perspective.

{2

(4]

Select the example that represents
diversity from the following examples :
(13 Saroj got the chance to go 1o
school while Nirmala did not get
the chance to go to school.
(2y Allen belongs to a poor family,
while Simon's family is very
rich.
Raghu does not wamt to nclude
Suresh in the football
teum because he comes from
a particular community of
_society. ' :
Paritosh  known good Bangla;
‘whereas Suchita speakes Hindi.

(3

(41)
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@ E@?ﬂﬁmﬁﬁm 10 sit in

Contemporary understanding of social
science encourages teachers
to do all of the following, gxcept :

(1) Encourage leamers to leam by
reading  local  experiences of
others and finding about their
own,

Promoting all leamers to give

identical answers to questions so

that all improve,

Appreciate learners ability o

make questions on the given

subject content and accepting it as

a valid test of learning.

Give opportunities to learners 1o

use their knowledge developed in

the classroom &t concrete
situations,

The following is not an example of
gender stereotyping :
(1) Only boys being encouraged 1o

participate  in  the  football
tourmament.

Only the girls in class are asked 1o
decorate the class boards,

While boys try to monapolise the
class  discussions, attention s
given to both girls and boys to
=’ ticavati

(2}

(3)

(4)

@

e in class.

B3

(3)
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85, Sensitivily on ‘soclal justice” in a
glassroom can be encouraged by :

A, Incorporating contemporary
excerpts from people's struggles
and stories of advocacy during
classroom discussions.

B. Keeping the understanding of
the historical context of the
Indlan soclal milien In the

context of unequal power

gquations.
C. Engaging in classroom
discussions on the constitutional

provisions on social justice.
D. Prompt corporal punishment on

the defaulting children.
Choose the correct option.
(1) AandB
(2) ABandC
(3) B,CandD
(4) CandD

B Wﬂmmwh

on the basis of

(43)
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87. The right to pollution free air has 87. ool i wen W T, e 3 fa
been recognized as part of which Hfers sften & wm % 9 =i
particular  Fundamental Right in md 7
India ?
(1) Bqualit (1) wHa
@ Life (2) e
(3) Justice (3) =
(4)  Freedom (4)  SATATE

88, Who coined the phrase ‘Unity in 88, e =T i W o ferg “Faftram F vy’

Diversity” to describe Indis ? ' oErEt w1 i fiees fear o 7
(1) Jawaharlal Nehru (1) T e
I (2) BR. Ambedkar (2) HLER. s
() MK Gandhi (3) umE. Wt
(4)  Rajendra Prasad m (4) T W

89. wm wy A farr v were @ 8
AT A0 T = e

(1)
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PART -1V
LANGUAGE -1
ENGLISH

[MPORTANT : Candidates should attempt questions from Part — IV (Q. No. 91-120),
if they have opted for ENGLISH as LANGUAGE - I only.

pirections : Read the passage given below
qand answer the questions that follow
Q. Nos. 91 = 99) by selecting the correct/most

.meﬂltlﬂpﬁﬂﬂl
Learning & lemgoage under any
circumstances requires  hard  work  and

concentration. However, the circumstances can
make 3 difference in both quality and gquantity,
Most foreign language students learm in o
classroom, from a text-book. In & classroom,
language learning can be controlled so that all
i’:u! necessary structuras wre taught. Highly
fficiently - anil quickly. Learning on the streets
and in the markets from experience and need
oniy what he happens 10 need. in 4 haphazard
ay. Ry ¥

The kind of language learnt in each setting
differs oo, In the classroom, the student 15
more likely to learn the grammatical language
of educated people. The language learnt out of
necessity often lacks the fine details of the
classroom varety and might include informal
expressions such as siang. The people learning
on the street muost be easily understeod.

mug Therefore, they might actually sound more like

native speakers — although not necessanly
educated people. So a combinatdon of
classroom instruction and the experience of
wsing language in the street will result in the
hest language learning of all.

91, Language needs of real-life situations
are fulfilled by :

(1) studying texi-books carefully.
(2)  learning the languags structures,
{(3) learning on the streets.
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93,  Study the following statements : 96, What does the word ‘motivated’ mean
(@) At school one learns the in the following phrase ?
language of educated people, ‘Highly motivated students can thus
(b) Language learnt on the street | @ :
includes the use of slang, | (1) intelligent
(1)  (a)is right and (b} is wrong. (2) resourceful
@ (2)is wrong and (b} is right. (3)  muddled
= : (4) interested
(3} Both (a) and (b) are right.
S s g o in & haphazard way.'
The word *haphazard' means
94, Which part of speech is the underlined E {13 dangerous .
‘word in the following senten
" e oot {2)  unorganized
'.TEH'&' i fesmmt it gach (3) safe
g
W A (4)  proper
(1) Pronoun

98. The best place to correctly and
quickly learn a foreign language is :
(1} only the classroom,
'l:!} U"i.}' the m[rj:.n[ FIH:-‘E.
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Directions : Read the extract given below
and answer the questions that follow
(Q. Nos. 100 - 105) by selecting the
correct/most appropriate options :

Grzat. wide, beautiful, wonderful world,
With the wonderful water around vou curled,
And the wonderful grass upon your breast
Waorld, you are beautifully drest.

The wonderful air is over me,

And the wonderful wind is shaking the tree,
Tt walks on the water, and whirls the mills,
And talks to itself on the tops of the hills,

You friendly Earth, how far do you go,
With the wheat — fields that nod and the rivers that
flow

With cities and gardens, and cliffs and isles,

And people upon you for thousands of miles 7

Ah ! You are so great and 1 am so small,
1 trembie to think of you, world, at all;
ﬁﬂmmrm :mr:mmmm

(47)

@

102, Mood of the speaker in all of these
lines is

(13 serious
() joyous
{(3) sad
(4) introspective
103. The figure of speech used in the first
stanza of the extract is :
(1)  Simile
{2} Synecdoche
{3) Onomatopoeia
(4)  Personification
104. The figure of speech used in the
phrase ‘and whirls the mills® is :
(1) Simile
{2)  Synecdoche
{3)  Onomatopoeia
(4] Persomification
105. The beautiful dress worn by the Earth
is made of :
{1) mills and the hills.
(2)  gardens and wheat-fields.
(¥  water and grass.
[4] mﬂumamsfand forests,

106. A teacher asks her learners to collect

words / phrases on various aspects
they see and notice in their markets
! Iﬂl‘,hmwﬂu

E



E .
108. Which of the following statements is

correct 7

{13  Receptive vocabulary are words
we  speak  and  productive
vocabulary are words we hear,
Receptive Vﬂ'-‘nﬂhl.llﬂ.l'j" are words
we recognize when we hear or see
and productive vocabulary are
words we speak or write.
Receptive vocabulary are words
we discourse with people and
productive vocabulary are words
in written text,
Words from other languages are
receptive vocabulary and words
from  native languages are
productive vocabulary.

)
(3)

)

: 109, A teacher divides her class into groups
) of four and reads out 3 text of about
o - #mtmmhmtnm

(481

P11

111. Knowing a word means

111

113,

(E)
(23
(3
(4)

how, whers and when it 15 used.
how the word is speit.
wha speaks the word.

tey know to write the word.

Which typology of question does the
following question belong to 7

Imagine you are the narrator of the
story. Write an entry in your diary
about vour experiences in about 100

words.

{17 Informative gquestion

{2) Inferential question

{3)  Cloze question

(4) Extrapolative question

Poetry teachingls

(1) o leam words and phrases.

(2) o Jeam poetic devices.

{3) for enjoyment and uppreciation.
{4) 1o write a critical commentary.

ﬁe’f

i;'; T ot s

wﬁ'ﬁlﬁlmmlng
ieving maximum levels of ==



ﬂ- A teacher brings a newspaper to her

116.

cluss VI students and asks them to
find some advertisements. She then
gsks them to  list out how
advertisements are designed and what
an advertisement contains, What is
the newspaper here 7
(1) For reading.

(2} An instrument
learming.

A technigue of language learning.
Materials for language leaming.

of language
(3
i4)

National Curricolum Framework

2005 assigns ‘supplementary’ and

‘complimentary’ roles to English

(1) English language teaching shouid
support  learming  of  other
Tanguages and subjects,

(2) &glﬁh language fteaching has
;udn u.-im “lﬂ“ﬂi'

(49)

118,

119.

Drilling is & teaching-learning
technigque or a strategy in

(13 Constructivist language teaching

(2)  Structuralism
{3) Communicative learning reaching

(4)  Lexical approach

Which of the following statemenis is
TRUE of language learning ?

First language interferes in the
learning of second language.

i

First language supporis the

learning of second language.

(2)

Lapguage leaming hus nothing to
do with content learning.

(3)

(4)

Every language is different and
learning of languages is also discree!.
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PART =¥
LANGUAGE=-1
ENGLISH

IMPORTANT : Candidates should suempt questions from Part = V (Q. No. 121-150),
if they have opted for ENGLISH as LANGUAGE - IL only.

Directions : Read the passage given below
and answer the questions (Q. Nos, 121 - 128)
that follow by selecting the correct/most
appropriate options :

As science progresses, superstitions ought to
grow less. On the whole, that is true. However,
it is surprising how superstitions linger on, If
we are tempted w look down on savage tribes
for holding such idess, we should remember
that even today, among most civilised nations,
| @ great many equally stupid superstitions exist
f and are believed in by a great many people.

Some people will not sit down thireen at a
table; or will not like to start anything
important on & Friday: or refuse 1o walk under

talismans because they think they will bring

=
Ty

It is, however, true that the increase of scientif;
knowledge does reduce superstition and alg,
bascless guessing and useless arguments gad
practices, Civilised people do not argue and gy
angry about what water is composed of, The
composition of water is known, and there is pg
argument about iL.

m 121. We should not despise the savage

tribes because :

(1) they do not believe in science,

(2)  they indulge in useless arguments.

(3) they have stopped lbeing
superstitious.

(%) we are no less superstitious than
they are.

122, Which of the following has

basis for it ? s e

() We should not walk under s
ladder.

(3)  Talismans and charms always
bring luck.

Fridays are as good as other dags.
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134, Study the following statements :

(a) Ancient Greeks were superior to
other European nations,

Science  helps
superstitions, e

(a} 15 right and (b} is wrong,
(2) is wrong and (b} is right.
Both (a) and (b) are right.

Both (a) and (b) are wrong,

(b

(1}
(2]
| (3}
- (4)

- Which part of speech s the underlined
word in the following sentence 7

On the whole that s true.
(1}

(2)

(55)

| 5‘ MMﬂEm.hmlnwhgmﬂ

128. The statement which best sums up the

passage is !

(1)  Superstitions. disappear with the
advancement of science.

{2y Irrational beliefs decline with the

advancement of science.

{3) (Civilized nations are¢ no less
superstitions than the savage
tribes.

(4) We are very different from the

suvage nations in our beliefs.

m Directions : Read the passage given below

and answer the questions that follow
(Q. Nos. 129-135) by selecting the correct /
most appropriate options.

If asked, "What matters are relaed w
health i.e. health decisions 7" most of us would
answer — hospitals, doctors and pills, Yet we
are all making a whole range of decisions
Eﬂlﬂn‘hﬂﬂﬂh which go beyond this limited

hhmim wear a seat belr,



E (56) Pl

and whether o wear & seat belt or not is 130, Study the following statements :
affected by safety considerations. Taken {a) Though it iz very dangerous,
some people don’t quit smoking,
together both these examples show how people
reach  decisions  abour  their  health, (b} Whether or not to -l!riﬂk aleahal
L o - o y . is not a health decision.
Understanding this process is crucial, Only .
then can we effectively change public attinde (1}  (a) is right and (B) 15 wrong.
towards voluntary activities like smoking, {2)  (a)is wrong and () is mght.
Smokers run the sk of contracting heart (3)  Baoth {a) and (b} are nght,
disease, several times more as compared to (4) Both (a) and (b) are wrong,
non-smokers. Even lung cancer, Despite
i ot M 131. Which of the following pieces of
regularly told smokers and car drivers the advice can be easily ignored by the
mﬁ!ﬁﬂﬁj’ﬂ:mnning,ﬂunumh;rgf people ?
smokers and non-wearers of seat belis has E (1) Don'tsmoke,
remained much the same. Although the {2)  Wear a seat belt.
: numbers of deaths from road accidents and (3)  Don't drink alcohol.

i) (4} Don't dnve a motor bike,
limle public interest,

Eﬁﬁunﬂﬁtﬂitﬁmﬂﬁmﬂ

132, Which part of speech is the underlined
word in the following sentence ?

Xet, we are all making u whole ra
of decisions, ik

(1) Adverb
{2} Conjunction
(3} Pronoun

| (4)  Preposition

o Which part of speech is
._wmh‘hﬁﬂﬁﬂngm




p-ll
1. Smokers run double the risk of

contracting heart disease,
The word “contracting’ here means

(1) receiving
(2) removing
{3y catching
{4) avoiding

135, An example of ‘limited area’ of health is -

(1) smoking
(2)  taking exercise

(3) wearing a seat belt
(4) taking medicines

136. A:Hl:hﬂruhherlnmmmmm
in groups of four, jot down ideas and
ﬁmﬂwﬁwﬁmh an outline to

(51

=

138,

Hgl

140,

CALP stands for

(1) Cognitively Academic Language
Proficiency

{2) Cognitively Advinced Language
Proficiency

(3) Competency based Academic
Language Proficiency

(4] Comparative Academic Language
Proficiency

‘A task' in Task Based Language
Learning means

(1} -an cactivity where the target
language is used by the |earner for

a4 communicative purposs,

(21 a piece of work designed by the
teacher for language teacher.

(30 a text-book exercise 1o be carried
out by learners individuals.

(4) & task for the reacher for assessing
learners language learning.

According to National Curriculum
Framework 2005, which one of the
following is NOT an objective of
language teaching-learning 7

(1) the competence to understand
ﬂﬂtmthms.

with
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142. Which Is an efTective way of teaching-

learning grammar 7

{1} Teaching the rules first followed
by examples.

{2} Presenting grammar form in &
natural discourse, then explaining
how the form is made and wsed,

(3 Preseniing  single  semence
examples in pleaty of wayvs and
then explaining the form.

4) Teaching through a
grammar book,

tvpical

143, What status is given lo English

language in the Indian Constitution 7
(1] Recognised language

(2)  Associate official language

{3 Official language

(4)  Foreign language

144, A hmmhuh:ruhlurm o

m?. on ‘scarcity of
- from science and social science books

.....

(58)

n e T

149,

147.

m 148.

PI

146. Teaching a novel s to promote :

(1) reading for pleasure
(2)  reading for details

i3} reading to become & writer
(4) reading to learn voczbulary

Story telling as a strategy in language
teaching is aimed at .

{1} learning the morals.

(2) leaming to retell the story.

(3} engagmg learners with language.
(4) testing the memory of Jearners.

‘Input Hypothesis® refers to

(13  the relationship between what the
leamer is exposed 1o of a language
and language acquisition.

(2 the relstionship between what
languages the learners know and
the Iﬂ.ﬂguﬂgﬂ l‘]].:.}r AIE |a|_|gh|'_

(3} the relationship umong the leamer,
teacher and the materials,

(4)  all the inputs of the school.

Wh‘lnhnntﬂﬂ'mﬂ:lllnwi makes the
mmmﬂnn.wpﬁﬁ!n;

(1) Sender
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